

Contents lists available at SciVerse ScienceDirect

Journal of Mathematical Analysis and Applications



www.elsevier.com/locate/jmaa

A class of multi-parameter eigenvalue problems for perturbed *p*-Laplacians

F. Güngör, M. Hasanov*

Dogus University, Department of Mathematics, 34722 Kadikoy, Istanbul, Turkey

ARTICLE INFO

Article history: Received 30 September 2011 Available online 13 December 2011 Submitted by D. O'Regan

Keywords: Travelling wave Perturbed p-Laplacian Eigenfunction Variational principle Critical point Analytical and implicit solutions

ABSTRACT

This paper is devoted to multi-parameter eigenvalue problems for one-dimensional perturbed *p*-Laplacians, modelling travelling waves for a class of nonlinear evolution PDE. Dispersion relations between the eigen-parameters, the existence of eigenfunctions and positive eigenfunctions, variational principles for eigenvalues and constructing solutions in the analytical and implicit forms are the main subject of this paper. We use both variational and analytical methods.

© 2011 Elsevier Inc. All rights reserved.

1. Introduction

In this paper we study a class of multi-parameter eigenvalue problems, which naturally arise when we search travelling waves for evolution *p*-Laplacian equations (see E. Di Benedetto and M.A. Herrero [8]):

$$iv_t - \operatorname{div}(|\nabla v|^{p-2}\nabla v) = \lambda |v|^{p-2}v, \quad p > 1,$$

$$v|_{\partial Q} = 0,$$
(1.1)

where v := v(t, x, y), t > 0, λ is a parameter and $Q = \{(x, y) | x \in (0, 1), y \in \mathbb{R}\}$ is the infinite rectangle in \mathbb{R}^2 . Now, we look for wave solutions to Eq. (1.1) in the form $v(t, x, y) = e^{i(wt-ky)}u(x)$, where u(x) is a real-valued function and $(w, k) \in \mathbb{R} \times \mathbb{R}$. We have $\nabla v = (v_x, v_y) = e^{i(wt-ky)}(u', -iku)$ and $|\nabla v| = (k^2u^2 + u'^2)^{1/2}$. For convenience we introduce the notation: $\nabla_k u := (ku, u')$. Then, $|\nabla v| = |\nabla_k u| = (k^2u^2 + u'^2)^{1/2}$. By using this notation and putting $v(t, x, y) = e^{i(wt-ky)}u(x)$ into (1.1) we obtain that v(t, x, y) is a solution to Eq. (1.1) if and only if u(x) is an eigenfunction of the following multiparameter perturbed eigenvalue problem which is the main concern of this paper (for similar problems in the case of k = 0, we refer to J.P.G. Azorero and I.P. Alonso [5]):

$$-wu + k^{2} |\nabla_{k}u|^{p-2} u - (|\nabla_{k}u|^{p-2}u')' = \lambda |u|^{p-2} u, \quad p > 1,$$

$$u(0) = u(1) = 0,$$

(1.2)

where u := u(x) and $|\nabla_k u| = (k^2 u^2 + u'^2)^{1/2}$. We note that in the case of k = 0 we obtain a standard two-parameter eigenvalue problem for one-dimensional *p*-Laplacians. For this reason we refer to problem (1.2) as a multi-parameter eigenvalue

* Corresponding author. E-mail addresses: fgungor@dogus.edu.tr (F. Güngör), hasanov61@yahoo.com (M. Hasanov).

⁰⁰²²⁻²⁴⁷X/\$ – see front matter @ 2011 Elsevier Inc. All rights reserved. doi:10.1016/j.jmaa.2011.12.027 $% \label{eq:constraint}$

problem for perturbed *p*-Laplacians, which is the central topic of this paper. We suggest new analytical techniques to analyze problem (1.2). We mention that the paper [15] by G. Morosanu, D. Souroujon, S. Tersian devoted to a problem in a different context, also includes some similar techniques to those we use in Section 4.

We now give the definition of a solution to Eq. (1.2).

Definition 1.1. $0 \neq u \in W_0^{1,p}(0,1)$ is a solution to Eq. (1.2) if and only if

$$-w\int_{0}^{1}uv\,dx+k^{2}\int_{0}^{1}|\nabla_{k}u|^{p-2}uv\,dx+\int_{0}^{1}|\nabla_{k}u|^{p-2}u'v'\,dx=\lambda\int_{0}^{1}|u|^{p-2}uv\,dx$$
(1.3)

holds for all $v \in W_0^{1,p}(0, 1)$, where $W_0^{1,p}(0, 1)$ is the Sobolev space (see [1] for Sobolev spaces). Here, the parameters (w, k, λ) are called eigen-parameters and the associated non-trivial function $u \in W_0^{1,p}(0, 1)$ is called the eigenfunction. First, we observe that searching for $0 \neq u \in W_0^{1,p}(0, 1)$ satisfying (1.3) is equivalent to finding critical points of the functional

$$F(u) = -\frac{w}{2} \int_{0}^{1} u^{2} dx + \frac{1}{p} \int_{0}^{1} |\nabla_{k} u|^{p} dx - \frac{\lambda}{p} \int_{0}^{1} |u|^{p} dx.$$

For this we just note that by using the definition of Gateaux derivative, we obtain

$$\frac{d}{dt} \left[\frac{1}{p} \int_{0}^{1} \left| \nabla_{k}(u+tv) \right|^{p} dx \right] \bigg|_{t=0} = \frac{1}{p} \int_{0}^{1} \frac{p}{2} \left(k^{2}u^{2} + u'^{2} \right)^{\frac{p-2}{2}} \left(2k^{2}uv + 2u'v' \right) dx$$
$$= k^{2} \int_{0}^{1} |\nabla_{k}u|^{p-2}uv \, dx + \int_{0}^{1} |\nabla_{k}u|^{p-2}u'v' \, dx.$$

In what follows, we denote $X := W_0^{1,p}(0, 1)$, which is a Banach space. $F' : X \to X^*$ will denote the Fréchet derivative of F, where X^* is the dual of the space X. Hence, $u \in X$ is a solution to (1.3) if and only if u is a free critical point for F(u), i.e., $\langle F'(u), v \rangle = 0$, for all $v \in X$, where $\langle F'(u), v \rangle$ denotes the value of the functional F'(u) at $v \in X$. Moreover, by Sobolev's embedding theorem $W_0^{1,p}(0, 1)$ is compactly embedded in C[0, 1] and consequently, $W_0^{1,p}(0, 1)$ is compactly embedded in $L_q(0, 1)$ for all $u \in W_0^{1,p}(0, 1)$.

The rest of this paper will be organized as follows. In Section 2 we present some general results about the structure of the eigen-parameters (w, k, λ) , including the $\lambda(k)$ dependence, the existence of positive eigenfunctions and the localization of eigen-parameters (w, k, λ) . In this section we use mainly variational techniques. Section 3 is devoted to the problems with cubic nonlinearities. In this case we construct analytical solutions and relying on these solutions we study dispersion relations $\lambda(k)$ and $k(\lambda)$ (Theorem 3.1). Finally, in Section 4 we study the same problems in the most general case. Here, our approach is based on constructing implicit solutions which allow us to analyze the spectral problems and establish dispersion relations in the most general case (Theorem 4.2). In Appendix A we present full details of the reducing the order of the main spectral problem.

2. The structure of the eigen-parameters (w, k, λ) : general results

In this section we present some general results, which are obtained by using variational techniques. We study separately two cases for the eigenvalue problem (1.3): w = 0 and $w \neq 0$.

The case: w = 0.

In this case problem (1.3) reduces to the form:

$$k^{2} \int_{0}^{1} |\nabla_{k}u|^{p-2} u v \, dx + \int_{0}^{1} |\nabla_{k}u|^{p-2} u' v' \, dx = \lambda \int_{0}^{1} |u|^{p-2} u v \, dx,$$
(2.1)

where u := u(x) and $|\nabla_k u| = (k^2 u^2 + u'^2)^{1/2}$.

In the case of k = 0 problem (2.1) coincides with the typical one-dimensional eigenvalue problem for *p*-Laplacians:

$$-(|u'|^{p-2}u')' = \lambda |u|^{p-2}u, \quad p > 1,$$

$$u(0) = u(1) = 0.$$
 (2.2)

The eigenvalue problems for *p*-Laplacians have been studied by many authors (see [3–5,13,14] and references therein). An alternative and interesting method for studying the existence of eigenfunctions of the one-dimensional *p*-Laplacian was suggested in [2]. However, when $k \neq 0$ then we deal with (2.1) which is different from the typical one-dimensional *p*-Laplacian eigenvalue problem (2.2).

Our first observation is given in Theorem 2.1. Since many facts in this theorem are proved in the same way as those in the classical *p*-Laplacian eigenvalue problems we present only a sketch of the proof.

Theorem 2.1. Let us fix $k \in \mathbb{R}$. Then,

(a) there exists an infinite sequence of variational eigenvalues $\lambda_n(k)$ for problem (2.1), arranged as

$$0 < \lambda_1(k) < \lambda_2(k) \leq \cdots \leq \lambda_n(k) \leq \cdots$$
 and $\lambda_n(k) \to +\infty$ as $n \to \infty$,

(b) $0 < \lambda_1(\Delta_p) \leq \lambda_1(k)$ and $|k|^p \leq \lambda_1(k)$,

where $\lambda_1(\Delta_p)$ denotes the first eigenvalue of problem (2.2).

A sketch of the proof. (a) The proof is based on the Ljusternik–Schnirelman critical point theory (see [19, Chapter 44]). Let us define $G_k(u) := \frac{1}{n} \int_0^1 |\nabla_k u|^p dx$ and $\Phi(u) := \frac{1}{n} \int_0^1 |u|^p dx$. Consider the following eigenvalue problem:

$$\Phi'(u) = \mu G'_k(u), \quad u \in S_{G_k}, \ \mu \in \mathbb{R},$$
(2.3)

where $S_{G_k} = \{u \in X \mid G_k(u) = 1\}$. Clearly, Eq. (2.3) is the same as Eq. (2.1) with $\mu = \frac{1}{\lambda}$. It is well known that to find a sequence μ_n of the eigenvalues of problem (2.3), it is sufficient to check the following basic conditions (see [19, p. 325 and p. 328]):

H1. Let X be a reflexive Banach space. F and G are the even functionals such that $F, G \in C^1(X, \mathbb{R})$ and F(0) = G(0) = 0. H2. $F' : X \to X^*$ is strongly continuous (i.e. $u_n \to u$ implies $F'(u_n) \to F'(u)$) and $\langle F'(u), u \rangle = 0$, $u \in \overline{co}S_G$ implies F(u) = 0, where $\overline{co}S_G$ denotes the closure of the convex hull of the set S_G .

H3. $G': X \to X^*$ is continuous, bounded and satisfies the following condition:

$$u_n \rightharpoonup u, \qquad G'(u_n) \rightharpoonup v, \qquad \langle G'(u_n), u_n \rangle \rightarrow \langle v, u \rangle$$

implies $u_n \rightarrow u$ as $n \rightarrow \infty$, where $u_n \rightarrow u$ denotes the weak convergence in *X*.

H4. The level set S_G is bounded and $u \neq 0$ implies,

$$\langle G'(u), u \rangle > 0, \qquad \lim_{t \to +\infty} G(tu) = +\infty, \qquad \inf_{u \in S_G} \langle G(u), u \rangle > 0.$$

Note that in our case, $F = \Phi$ and $G = G_k$. It has been shown in [13] that all conditions H1-H4 are satisfied for the functionals $\Phi(u)$ and $G_0(u)$, which is the norm of the space $X = W_0^{1,p}(0, 1)$. If $k \neq 0$, then it is enough to note that for a fixed $k \in \mathbb{R}$ the functional $G_k(u) := \frac{1}{p} \int_0^1 |\nabla_k u|^p dx$ forms an equivalent norm in X.

Now, we denote by $\mathcal{K}_n(k)$ the class of all compact, symmetric subsets K of G_k , such that gen $K \ge n$ (see [19, Chapter 44]). Thus, for a fixed $k \in \mathbb{R}$, according to the Ljusternik–Schnirelman variational principle [19, p. 326, Theorem 44.A] there exists a sequence of eigenvalues of problem (2.1), depending on k and arranged as:

$$0 < \lambda_1(k) \leqslant \lambda_2(k) \leqslant \cdots \leqslant \lambda_n(k) \leqslant \cdots$$

which are characterized by

$$\frac{1}{\lambda_n(k)} = \mu_n(k) = \sup_{K \subset \mathcal{K}_n(k)} \inf_{u \in K} \Phi(u).$$

Moreover, for all $k \in \mathbb{R}$

$$0 < \lambda_1(k)$$
 and $\lambda_n(k) \to +\infty$ as $n \to \infty$.

(b) It follows from

$$0 < \lambda_1(\Delta_p) = \inf_{0 \neq u \in W_0^{1,p}(0,1)} \frac{\int_0^1 |u'|^p \, dx}{\int_0^1 |u|^p \, dx} \leq \inf_{0 \neq u \in W_0^{1,p}(0,1)} \frac{\int_0^1 (k^2 u^2 + {u'}^2)^{\frac{p}{2}} \, dx}{\int_0^1 |u|^p \, dx} = \lambda_1(k)$$

and

$$|k|^{p} \int_{0}^{1} |u|^{p} dx \leq \int_{0}^{1} (k^{2}u^{2} + u'^{2})^{\frac{p}{2}} dx$$

that $0 < \lambda_1(\Delta_p) \leqslant \lambda_1(k)$ and $|k|^p \leqslant \lambda_1(k)$. \Box

Remark. Evidently, the Ljusternik–Schnirelman critical point theory can be applied not only to one-dimensional problem (2.1) but also to the *n*-dimensional problem

$$k^{2} \int_{\Omega} |\nabla_{k} u|^{p-2} u v \, dx + \int_{\Omega} |\nabla_{k} u|^{p-2} u' v' \, dx = \lambda \int_{\Omega} |u|^{p-2} u v \, dx,$$

and we obtain that the same results, given in Theorem 2.1 are also valid for this problem. But, in the *n*-dimensional case we can only state that: $\lambda_1(k)$ is simple, isolated and $\lambda_2(k)$ is the second eigenvalue of the problem and the sequence

$$0 < \lambda_1(k) < \lambda_2(k) \leqslant \cdots \leqslant \lambda_n(k) \leqslant \cdots$$
 and $\lambda_n(k) \to +\infty$ as $n \to \infty$,

may not be complete (see [3,4,14]).

However, for the one-dimensional case we completely solve this problem in the following sections (see Theorem 3.1 and Theorem 4.2) and show that the spectrum is discrete, i.e., it consists of a sequence of isolated eigenvalues.

The case: $w \neq 0$.

In this case our main concern is the existence of positive solutions to problem (1.3). By using the scaling property, a solution to problem (1.3) can be obtained by a constrained minimization problem for the functional

$$E_{k,\lambda}(u) = \int_0^1 |\nabla_k u|^p \, dx - \lambda \int_0^1 |u|^p \, dx$$

on the Banach space $W_0^{1,p}(0,1)$, restricted to the set

$$M = \left\{ u \in W_0^{1,p}(0,1) \, \bigg| \, \int_0^1 u^2 \, dx = 1 \right\}.$$

Our method is based on some regularity ideas, the fact that $W_0^{1,p}(0,1)$ is compactly embedded in $L_q(0,1)$ for all $q \in [1,\infty)$ and the following theorem.

Theorem 2.2. (See [17, Theorem 1.2].) Suppose X is a reflexive Banach space with norm $\|.\|$, and let $M \subset X$ be a weakly closed subset of X. Suppose $E : M \to \mathbb{R} \cup +\infty$ is coercive on M with respect to X, that is

(1)
$$E(u) \to \infty$$
 as $||u|| \to \infty$, $u \in M$

and it is (sequentially) weakly lower semi-continuous on M with respect to X, that is

(2) for any $u \in M$, any sequence (u_n) in M such that $u_n \rightarrow u$ (weakly) in X there holds:

$$E(u) \leq \lim_{n \to \infty} \inf E(u_n).$$

Then E is bounded from below on M and attains its infimum in M.

Now we formulate and prove our main result in this section.

Theorem 2.3. *If either* $(w, k, \lambda) \in \mathbb{R}_+ \times \mathbb{R} \times (-\infty, \lambda_1(k))$ *or* $(w, k, \lambda) \in \mathbb{R}_- \times \mathbb{R} \times (\lambda_1(k), +\infty)$ *, then problem* (1.3) *has a positive solution.*

Proof. Let us consider the condition $(w, k, \lambda) \in \mathbb{R}_+ \times \mathbb{R} \times (-\infty, \lambda_1(k))$. By this condition we have to prove that for a fixed $k \in \mathbb{R}$ and $\lambda < \lambda_1(k)$ problem (1.3) has a positive solution for any w > 0. We set in Theorem 2.2: $X = W_0^{1,p}(0, 1)$, $E(u) := E_{k,\lambda}(u)$ and $M = \{u \in W_0^{1,p}(0, 1) \mid \int_0^1 u^2 dx = 1\}$. Evidently, all conditions of Theorem 2.2 are satisfied. Particularly, by the Sobolev's embedding theorem M is a weakly closed set. Now, the existence of a non-trivial solution to problem (1.3) immediately follows from this theorem. The existence of a non-negative solution is obtained if we replace u by |u|. Let us prove that a non-negative solution to (1.3) is positive. One can use the Moser's iteration technique to show that a solution to (1.3) belongs to $L^{\infty}(0, 1)$ (see [10] or [13, pp. 1070–1073]). Then, $u \in C^{1,\alpha}(0, 1)$ -Hölder continuously differentiable function with the exponent $0 \le \alpha \le 1$. This property follows from the following fact (here we restrict ourselves to the interval (0, 1)): Let $f : (0, 1) \times \mathbb{R} \to \mathbb{R}$ be a Carathédory function (see [13, p. 1074]). Then if $g(x) := f(x, u(x)) \in L^{\infty}(0, 1)$ then a result of DiBenedetto [7] and Tolksdorf [18] states that a weak solution of the equation

$$-\Delta_{p}u(x) = f(x, u(x))$$

is a $C^{1,\alpha}(0,1)$ function.

Finally, we use the following Harnack type inequality due to Trudinger ([11] and [13, p. 1075]) to prove that u > 0.

(2.4)

Harnack inequality: Let $u \in W^{1,p}(0,1)$ be a weak solution of (2.4) and for all $M < \infty$ and for all $(x, s) \in (0, 1) \times (-M, M)$ the condition

$$|f(x, s)| \leq b_1(x)|s|^{p-1} + b_2(x)$$

holds, where b_1 , b_2 are non-negative functions in $L^{\infty}(0, 1)$. Then if $0 \le u(x) < M$ in a subinterval of (0, 1), there exists a constant *C* such that

$$\max_{K(r)} u(x) \leqslant C \min_{K(r)} u(x).$$

We also note that the condition $\max_{K(r)} u(x) \leq C \min_{K(r)} u(x)$ means either: u = 0 or u > 0 in (0, 1). Since $||u||_{L_2(0, 1)} = 1$ we obtain that u > 0 in (0, 1). \Box

3. The cubic nonlinearity: analytical solutions and dispersion relations

In this section we separately study the analytical solutions and dispersion relations between k and λ of the following problem in the case of p = 4 (the problem with the cubic nonlinearity):

$$k^{2} |\nabla_{k} u|^{p-2} u - (|\nabla_{k} u|^{p-2} u')' = \lambda |u|^{p-2} u, \quad p > 1,$$

$$u(0) = u(1) = 0,$$
 (3.1)

where u := u(x) and $|\nabla_k u| = (k^2 u^2 + u'^2)^{1/2}$.

Problems with the cubic nonlinearities have important applications and that is why we study this case separately. Moreover, it turns out that in this case it is possible to construct analytical solutions.

First we note that in the case k = 0 we deal with the following classical one-dimensional *p*-Laplacian eigenvalue problem which was fully studied by P. Drábek [9] (see also a paper of M. Del Pino, M. Elgueta, and R. Manasevich [16]):

$$-(|u'|^{p-2}u')' = \lambda |u|^{p-2}u, \quad p > 1,$$

$$u(0) = u(1) = 0.$$
 (3.2)

All eigenfunctions and eigenvalues of problem (3.2) are given by $u_n(x) = c\lambda_n^{-\frac{1}{p}} \sin_p(\lambda_n^{\frac{1}{p}}x)$ and $\lambda_n = (n\pi_p)^p$, respectively. Here,

$$\pi_p := 2 \int_{0}^{(p-1)^{\frac{1}{p}}} \frac{ds}{(1 - \frac{s^p}{p-1})^{1/p}}$$

and $\sin_p(x)$ is defined as an implicit function $\sin_p: [0, \frac{\pi_p}{2}] \to [0, (p-1)^{1/p}]$ by

$$\int_{0}^{\sin_{p}(x)} \frac{ds}{(1 - \frac{s^{p}}{p-1})^{1/p}} = x,$$

then it is extended by setting: $\widetilde{\sin}_p(x) := \sin_p(\pi_p - x)$, $x \in [\frac{\pi_p}{2}, \pi_p]$ and $\widetilde{\sin}_p(x) := -\widetilde{\sin}_p(-x)$ for $x \in [-\pi_p, 0]$. Finally, $\sin_p : \mathbb{R} \to \mathbb{R}$ is defined as the $2\pi_p$ -periodic extension of $\widetilde{\sin}_p(x)$ to all of \mathbb{R} (see [9] and [16], and also the recent paper [6] for more interesting properties of $\sin_p(x)$).

To construct analytical solutions to problem (3.3) we also apply methods similar to those applied in the above mentioned papers. However, we have to modify many techniques of these papers which are not applicable to our problems. Namely, this modified method is applied below to find analytical solutions to the following problem:

$$k^{2}(k^{2}u^{2} + u'^{2})u - ((k^{2}u^{2} + u'^{2})u')' = \lambda u^{3},$$

$$u(0) = u(1) = 0,$$

(3.3)

where u = u(x). We let $k \ge 0$.

First, we reduce the order of the equation by the substitution u' = v(u). Then, $u'' = v' = \frac{dv}{du}\frac{du}{dx} = \frac{dv}{du}v$ and we have

$$(3v^3 + k^2u^2v)\frac{dv}{du} = k^4u^3 - k^2uv^2 - \lambda u^3.$$

This is a homogeneous ordinary differential equation and it may be integrated by changing from $(u, v) \rightarrow (u, w)$ by the standard substitution v = uw(u). This then gives a separable equation

$$(3w^3 + k^2w)uw' = k^4 - \lambda - 2k^2w^2 - 3w^4,$$

which integrates to

$$k^4 - \lambda - 2k^2 w^2 - 3w^4 = \frac{c}{u^4}.$$

Putting the inverse substitution $w = \frac{u'}{u}$ into the above equation we obtain

$$k^4 - \lambda - 2k^2 \left(\frac{u'}{u}\right)^2 - 3\left(\frac{u'}{u}\right)^4 = \frac{c}{u^4}$$

or

$$3u'^4 + 2k^2u^2u'^2 + (\lambda - k^4)u^4 - c = 0$$

through the multiplication by $-u^4$. By Theorem 2.1 we have $\lambda \ge k^4$. Hence, in order to get a non-trivial solution to (3.3) the condition c > 0 must be satisfied. Let $u = \pm (\frac{c}{3})^{\frac{1}{4}}y$. Then we can rewrite the above given equation in the following form

$$y'^{4} + \frac{2}{3}k^{2}y^{2}y'^{2} + \frac{\lambda - k^{4}}{3}y^{4} - 1 = 0.$$

Finally, by solving this quadratic equation in y'^2 we get

$$y'^{2} = -\frac{k^{2}}{3}y^{2} + \sqrt{\frac{k^{4}}{9}y^{4} + 1 - \frac{\lambda - k^{4}}{3}y^{4}}.$$

Evidently, this formula makes sense if $y^4 \leq \frac{3}{\lambda - k^4}$. Moreover y' > 0 or y' < 0 iff $|y| < (\frac{3}{\lambda - k^4})^{\frac{1}{4}}$. Consequently, in a neighborhood of zero one can write

$$y' = \left[-\frac{k^2}{3}y^2 + \sqrt{\frac{k^4}{9}y^4 + 1 - \frac{\lambda - k^4}{3}y^4} \right]^{\frac{1}{2}} > 0$$

Clearly, $[0, \varepsilon)$, $\varepsilon = \min\{x \mid x > 0 \text{ and } y(x) = (\frac{3}{\lambda - k^4})^{\frac{1}{4}}\}$ is the maximal interval of the form [0, a), where y' > 0.

Note. At this point we have to note that if y' > 0 on [0, 1], then we get a trivial solution. However, in general the condition y'(x) > 0, $x \in [0, 1]$ is not satisfied for all (λ, k) . Actually, these cases allow us to construct non-trivial solutions. One can see from the arguments provided below that we construct (for some λ and k) a solution satisfying u(0) = 0, on the interval $[0, \varepsilon)$, where $\varepsilon < 1$ and then extend it to get a non-trivial solution to problem (3.3) on the interval [0, 1].

Integrating the last equation and using the initial condition y(0) = 0 gives

$$\int_{0}^{y(x)} \frac{ds}{\left[-\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda - k^4}{3}s^4}\right]^{1/2}} = x.$$
(3.4)

Let us define

$$F_{\lambda,k}(x) := \int_{0}^{x} \frac{ds}{\left[-\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda - k^4}{3}s^4}\right]^{1/2}}.$$
(3.5)

The function $F_{\lambda,k}(x)$ is well defined if $1 - \frac{\lambda - k^4}{3}s^4 > 0$. Therefore, $s < (\frac{3}{\lambda - k^4})^{1/4}$ and

$$F_{\lambda,k}:\left[0,\left(\frac{3}{\lambda-k^4}\right)^{1/4}\right]\rightarrow\left[0,\frac{\pi_4(\lambda,k)}{2}\right],\quad k^4<\lambda,$$

where

$$\pi_4(\lambda,k) = 2 \int_{0}^{\left(\frac{3}{\lambda-k^4}\right)^{1/4}} \frac{ds}{\left[-\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda-k^4}{3}s^4}\right]^{1/2}}.$$
(3.6)

Since $F'_{\lambda,k}(x) > 0$, then there exists an inverse function

$$G_{\lambda,k}:\left[0,\frac{\pi_4(\lambda,k)}{2}\right] \rightarrow \left[0,\left(\frac{3}{\lambda-k^4}\right)^{1/4}\right]$$

defined by

$$\int_{0}^{G_{\lambda,k}(X)} \frac{ds}{\left[-\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda - k^4}{3}s^4}\right]^{1/2}} = x.$$
(3.7)

 $G_{\lambda,k}(x)$ is extended to \mathbb{R} by the following way: $\widetilde{G}_{\lambda,k}(x) := G_{\lambda,k}(\pi_4(\lambda,k)-x)$, $x \in [\frac{\pi_4(\lambda,k)}{2}, \pi_4(\lambda,k)]$ and $\widetilde{G}_{\lambda,k}(x) := -\widetilde{G}_{\lambda,k}(-x)$ for $x \in [-\pi_4(\lambda,k), 0]$. Finally, $G_{\lambda,k}(x) : \mathbb{R} \to \mathbb{R}$ is defined as the $2\pi_4(\lambda, k)$ -periodic extension of $\widetilde{G}_{\lambda,k}(x)$ to all of \mathbb{R} .

By this extension we have $G_{\lambda,k}(x) = 0 \Leftrightarrow x = n\pi_4(\lambda, k)$. Now, it follows from (3.4) and (3.7) that $y(x) = G_{\lambda,k}(x)$ and therefore $u(x) = cG_{\lambda,k}(x)$ is the general solution for the following equation

$$k^{2}(k^{2}u^{2}+u'^{2})u - ((k^{2}u^{2}+u'^{2})u')' = \lambda u^{3}, \qquad u(0) = 0.$$
(3.8)

Thus, the main question is: for what values of k and λ are there non-trivial solutions, among $u(x) = cG_{\lambda,k}(x)$, satisfying the condition u(1) = 0? The answer to this question has almost been given in the above discussion. We summarize these in the following theorem.

Theorem 3.1. Let p = 4. In this case we have:

(a) All eigen-parameters (λ, k) for problem (3.3) lie in the parabola $k^4 < \lambda$;

(b) For every $k \in \mathbb{R}$, the set of all eigenvalues λ of problem (3.3) consists of a sequence of positive numbers $\lambda_n(k)$ such that $k^4 < \lambda_n(k) \to \infty$ for $n \to \infty$;

(c) There is a number $\lambda^* > 0$ such that for each λ satisfying $\lambda^* \leq \lambda$, the set of all eigen-parameters k of problem (3.3) consists of a finite number of eigen-parameters $k_1(\lambda), k_2(\lambda), \ldots, k_{n(\lambda)}(\lambda)$ which belong to the interval $(-\lambda^{1/4}, \lambda^{1/4})$. Moreover, $n(\lambda) \to \infty$ as $\lambda \to \infty$;

(d) In the case of $\lambda < \lambda^*$ problem (3.3) has only trivial solution.

Proof. (a) Actually, the weaker inequality $k^4 \le \lambda$ has been established in Theorem 2.1 by using variational techniques. Here we prove the stronger inequality: $k^4 < \lambda$. Let $\lambda \le k^4$. Then we have $-\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda - k^4}{3}s^4} > 0$ for all $s \in \mathbb{R}$. Hence, it follows from (3.5) that the function $F_{\lambda,k}(x)$ is well defined, positive function on $(0, +\infty)$ and by (3.7) so is the function $G_{\lambda,k}(x)$. Since the solution of (3.8) is given by $u(x) = cG_{\lambda,k}(x)$, then u(1) = 0 implies c = 0. Thus, all eigen-parameters (λ, k) for problem (3.3) lie in the parabola $k^4 < \lambda$ (see [12] for more facts on the localization of the eigen-parameters).

(b) (See also Theorem 2.1(a) and Remark after this theorem.) By (3.6), for a fixed *k* the function $\pi_4(\lambda, k)$ satisfies the following conditions: $\lim_{\lambda \to k^{4+}} \pi_4(\lambda, k) = +\infty$, $\lim_{\lambda \to +\infty} \pi_4(\lambda, k) = 0$ and $\pi_4(\lambda, k)$ is a decreasing function on $(k^4, +\infty)$, with respect to λ . Indeed, we can use the inequality $\sqrt{a^2 + b^2} \leq a + b$, $a \geq 0$, $b \geq 0$ to get

$$0 < -\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda - k^4}{3}s^4} \leq -\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1} \leq -\frac{k^2}{3}s^2 + \frac{k^2}{3}s^2 + 1 = 1.$$

Hence $\pi_4(\lambda, k) \ge 2(\frac{3}{\lambda-k^4})^{1/4}$ and consequently $\lim_{\lambda \to k^{4+}} \pi_4(\lambda, k) = +\infty$.

Let us show that $\lim_{\lambda \to +\infty} \pi_4(\lambda, k) = 0$. We need to check this property, since $\lambda \to +\infty$ implies $s \to 0$ in (3.6). By using the substitution $s = (\frac{3}{\lambda - k^4})^{1/4}t$ we can rewrite $\pi_4(\lambda, k)$ in the form:

$$\pi_4(\lambda,k) = 2 \int_0^1 \frac{dt}{\left[-\frac{k^2}{3}t^2 + \sqrt{\frac{k^4}{9}t^4 + \frac{\lambda - k^4}{3}(1 - t^4)}\right]^{1/2}}.$$

Thus, the property $\lim_{\lambda \to +\infty} \pi_4(\lambda, k) = 0$ follows from the Lebesgue's dominated convergence theorem.

By using these properties we obtain that, for each $n \in \mathbb{N}$, the equation $\pi_4(\lambda, k) = \frac{1}{n}$ has a unique solution $\lambda_n(k)$ and $\lambda_n(k) \to +\infty$ as $n \to \infty$.

(c) Now, let us fix $\lambda > 0$. Then $\pi_4(\lambda, .)$ is defined on the interval $(-\lambda^{1/4}, \lambda^{1/4})$. Moreover, $\lim_{k \to -\lambda^{1/4^+}} \pi_4(\lambda, k) = +\infty$ and $\lim_{k \to \lambda^{1/4^-}} \pi_4(\lambda, k) = +\infty$. Let λ^* be the solution of the equation $\pi_4(\lambda, 0) = 1$. It follows from

$$\pi_4(\lambda,0) = 2\left(\frac{3}{\lambda}\right)^{\frac{1}{4}} \int_0^1 \frac{dt}{\sqrt[4]{1-t^4}}$$

that $\pi_4(\lambda, 0)$ is a decreasing function and $\pi_4(\lambda, 0) \to 0$ as $\lambda \to +\infty$. Now, clearly the equation $\pi_4(\lambda, k) = \frac{1}{n}$ has a solution if and only if $\lambda^* \leq \lambda$ and $\frac{1}{n} \in [\pi_4(\lambda, 0), 1]$. These facts prove (c) and (d). \Box

4. The general case: implicit solutions and a dispersion analysis

In this section we analyze the existence of non-trivial solutions and dispersion relations between λ and k in the general case, i.e. for arbitrary p > 1. We suggest new techniques to construct solutions in the implicit form. Relying on these implicit solutions we provide a complete dispersion analysis.

The problem is

$$k^{2} (k^{2} u^{2} + u^{\prime 2})^{\frac{p-2}{2}} u - ((k^{2} u^{2} + u^{\prime 2})^{\frac{p-2}{2}} u^{\prime})^{\prime} = \lambda |u|^{p-2} u, \quad p > 1,$$

$$u(0) = u(1) = 0,$$

(4.1)

where u := u(x). By special substitutions we can reduce the order of (4.1). Full details are given in Appendix A. The final reduced 1st order differential equation is

$$(u'^{2} + k^{2}u^{2})^{\frac{p-2}{2}} [(p-1)u'^{2} - k^{2}u^{2}] + \lambda |u|^{p} - c = 0,$$

$$u(0) = u(1) = 0.$$
(4.2)

Lemma 4.1. For all differentiable u and p > 1 the following inequality

$$0 \leq \left(u'^{2} + k^{2}u^{2}\right)^{\frac{p-2}{2}} \left[(p-1)u'^{2} - k^{2}u^{2}\right] + |k|^{p}|u|^{p}$$

holds.

Proof. Indeed

$$\begin{split} 0 &\leqslant |k|^{p-2} |u|^{p-2} (p-1) u'^2 = |k|^{p-2} |u|^{p-2} \big[(p-1) u'^2 - k^2 u^2 \big] + |k|^p |u|^p \\ &\leqslant \left(u'^2 + k^2 u^2 \right)^{\frac{p-2}{2}} \big[(p-1) u'^2 - k^2 u^2 \big] + |k^p| u|^p. \quad \Box \end{split}$$

For convenience we rewrite (4.2) in the form

$$\left[\left(u^{\prime 2} + k^2 u^2 \right)^{\frac{p-2}{2}} \left[(p-1)u^{\prime 2} - k^2 u^2 \right] + |k|^p |u|^p \right] + \left(\lambda - |k|^p \right) |u|^p - c = 0,$$

$$u(0) = u(1) = 0.$$
(4.3)

By Theorem 2.1 we have $|k|^p \leq \lambda$. Then, by using Lemma 4.1 we get: (4.3) (or the same (4.2)) has a non-trivial solution if c > 0.

On the other hand by setting directly the substitution $u = \pm \left(\frac{c}{p-1}\right)^{\frac{1}{p}} y$ into (4.2) we can cancel *c* and write

$$(y'^{2} + k^{2}y^{2})^{\frac{p-2}{2}} \left[y'^{2} - \frac{k^{2}}{p-1}y^{2} \right] + \frac{\lambda}{p-1} |y|^{p} - 1 = 0,$$

$$y(0) = 0, \qquad y(1) = 0.$$
 (4.4)

In the same way, setting the substitution $u = \pm \left(\frac{c}{p-1}\right)^{\frac{1}{p}} y$ into (4.3) we can cancel *c* and write

$$\begin{bmatrix} \left(y'^2 + k^2 y^2\right)^{\frac{p-2}{2}} \begin{bmatrix} y'^2 - \frac{k^2}{p-1} y^2 \end{bmatrix} + \frac{|k|^p}{p-1} |y|^p \end{bmatrix} + \frac{\lambda - |k|^p}{p-1} |y|^p - 1 = 0,$$

$$y(0) = 0, \qquad y(1) = 0.$$
(4.5)

Next, we analyze multi-parameter spectral problem (4.4) (or its modified form (4.5)). For this, we first study the following intermediate problem

$$\begin{bmatrix} \left(y'^2 + k^2 y^2\right)^{\frac{p-2}{2}} \begin{bmatrix} y'^2 - \frac{k^2}{p-1} y^2 \end{bmatrix} + \frac{|k|^p}{p-1} |y|^p \end{bmatrix} + \frac{\lambda - |k|^p}{p-1} |y|^p - 1 = 0, \quad x \in [0, +\infty)$$

$$y(0) = 0.$$
(4.6)

Lemma 4.2. Let y be a solution of (4.6).

(i) If $\lambda \leq |k|^p$, then y'(x) > 0 or y'(x) < 0, for all $x \in [0, \infty)$,

(ii) If $|k|^p < \lambda$, then $|y(x)| \leq \left(\frac{p-1}{\lambda-|k|^p}\right)^{\frac{1}{p}}$, $x \in [0, +\infty)$ and there exists a point $x_0 \in [0, 1]$ such that

$$\left|y(x_0)\right| < \left(\frac{p-1}{\lambda-|k|^p}\right)^{\frac{1}{p}}.$$

Moreover, $y(x_0) = (\frac{p-1}{\lambda - |k|^p})^{\frac{1}{p}}$ *iff* $y'(x_0) = 0$.

Proof. (i) Let $\lambda \leq |k|^p$. We show that in this case y'(x) > 0 or y'(x) < 0 for all $x \in [0, +\infty)$. Indeed, if there exists a number $x_0 \in [0, +\infty)$ such that $y'(x_0) = 0$, then setting $x = x_0$ into (4.6) we obtain the contradiction

$$1 = \frac{\lambda - |k|^p}{p - 1} \left| y(x_0) \right|^p \leq 0.$$

(ii) Let $|k|^p < \lambda$. By Lemma 4.1 we have $0 \le (y'^2 + k^2 y^2)^{\frac{p-2}{2}} [y'^2 - \frac{k^2}{p-1} y^2] + \frac{|k|^p}{p-1} |y|^p$. Then, we need the conditions: $\frac{\lambda - |k|^p}{p-1} |y|^p - 1 \le 0$ and $\frac{\lambda - |k|^p}{p-1} |y|^p - 1 \ne 0$ in order to get a solution of (4.6). Clearly, $\frac{\lambda - |k|^p}{p-1} |y|^p - 1 \ge 0$ would imply $y(x) \ge (\frac{p-1}{\lambda - |k|^p})^{\frac{1}{p}}$, which does not satisfy the initial condition y(0) = 0. \Box

Corollary 4.1. If $\lambda \leq |k|^p$ then (4.5) has no solution and consequently, (4.1) has only a trivial solution.

Now we are going to construct a solution to problem (4.6) in the implicit form, in a neighborhood of 0. Then we use this solution to construct the general solution to problem (4.1). By Corollary 4.1 we can always suppose that $|k|^p < \lambda$.

Theorem 4.1. For all λ and k such that $|k|^p < \lambda$ there exists the interval $[0, \varepsilon(\lambda, k))$ of the maximal length such that (i) the problem

$$\left(y'^{2} + k^{2}y^{2}\right)^{\frac{p-2}{2}} \left[y'^{2} - \frac{k^{2}}{p-1}y^{2}\right] + \frac{\lambda}{p-1}|y|^{p} - 1 = 0, \quad x \in \left[0, \varepsilon(\lambda, k)\right], \qquad y(0) = 0$$

has unique solution y(x),

(ii) $y'(x) > 0, x \in [0, \varepsilon(\lambda, k)).$

Proof. Let us define $L(y', y, \lambda, k) := (y'^2 + k^2 y^2)^{\frac{p-2}{2}} [y'^2 - \frac{k^2}{p-1} y^2] + \frac{\lambda}{p-1} |y|^p - 1$. Evidently, y = 0 implies $y' = \pm 1$. Now we apply the standard implicit function theorem to $L(y', y, \lambda, k)$ with respect to y', around (0, 1). We have

(i) $L(1, 0, \lambda, k) = 0$, (ii) $L_{y'} = (y'^2 + k^2 y^2)^{\frac{p-4}{2}} y'[py'^2 + \frac{p}{p-1}k^2 y^2] > 0$ iff y' > 0 (or $L_{y'} < 0$ iff y' < 0). Hence, as long as $(y, y') \in (-\infty, \infty) \times (0, +\infty)$, there is a unique implicit function, we denote by $H(y, \lambda, k)$, such that

$$y'(x) = H(y(x), \lambda, k),$$

 $y(0) = 0.$
(4.7)

Let $\varepsilon(\lambda, k) = \min\{x \mid x > 0 \text{ and } y'(x) = 0\}$. Evidently, $[0, \varepsilon(\lambda, k))$ is the maximal interval, where the condition $y'(x) \in (0, +\infty)$ is satisfied and the implicit function theorem can be applied.

From the point of view of the case p = 2 and p = 4 it is natural to introduce the number

$$\frac{\pi_p(\lambda,k)}{2} := \varepsilon(\lambda,k).$$

Hence

$$\frac{\pi_p(\lambda, k)}{2} = \min\{x \mid x > 0 \text{ and } y'(x) = 0\}.$$
(4.8)

By Lemma 4.2

$$\frac{\pi_p(\lambda, k)}{2} := \min\left\{ x \ \Big| \ x > 0 \text{ and } y(x) = \left(\frac{p-1}{\lambda - |k|^p}\right)^{\frac{1}{p}} \right\}.$$
(4.9)

Integrating (4.7) and using the initial condition y(0) = 0 yields

$$\int_{0}^{y(x)} \frac{ds}{H(s,\lambda,k)} = x, \quad x \in \left[0, \frac{\pi_p(\lambda,k)}{2}\right].$$
(4.10)

Let

$$F_{\lambda,k}^p(x) := \int_0^x \frac{ds}{H(s,\lambda,k)}.$$
(4.11)

By (4.9) $y(\frac{\pi_p(\lambda,k)}{2}) = (\frac{p-1}{\lambda-k^p})^{\frac{1}{p}}$. Consequently, it follows from (4.10) that

$$\pi_p(\lambda,k) = 2 \int_{0}^{\left(\frac{p-1}{\lambda-k^p}\right)^{\frac{1}{p}}} \frac{ds}{H(s,\lambda,k)}.$$
(4.12)

Hence

$$F_{\lambda,k}^{p}:\left[0,\left(\frac{p-1}{\lambda-|k|^{p}}\right)^{\frac{1}{p}}\right]\rightarrow\left[0,\frac{\pi_{p}(\lambda,k)}{2}\right].$$

By (4.11), $\frac{d}{dx}F_{\lambda,k}^p(x) = \frac{1}{H(x,\lambda,k)} > 0$. Consequently, there exists an inverse function for $F_{\lambda,k}^p(x)$ denoted by $G_{\lambda,k}^p(x)$. Finally, comparing (4.10) and (4.11) we obtain that $F_{\lambda,k}^p(y(x)) = x$ and $y(x) = G_{\lambda,k}^p(x)$ is the needed non-trivial solution. \Box

Note. If p = 4 then

$$H(y,\lambda,k) = \left[-\frac{k^2}{3}y^2 + \sqrt{\frac{k^4}{9}y^4 + 1 - \frac{\lambda - k^4}{3}y^4}\right]^{\frac{1}{2}}.$$

Therefore, $F_{\lambda,k}^4(x) = F_{\lambda,k}(x)$ and $G_{\lambda,k}^4(x) = G_{\lambda,k}(x)$. Moreover, it follows from (4.12) that

$$\pi_4(\lambda,k) = 2 \int_{0}^{\left(\frac{3}{\lambda-k^4}\right)^{1/4}} \frac{ds}{\left[-\frac{k^2}{3}s^2 + \sqrt{\frac{k^4}{9}s^4 + 1 - \frac{\lambda-k^4}{3}s^4}\right]^{1/2}}$$

which coincides with (3.6) in the case of p = 4.

Finally, we construct the general solution of the main problem (4.1) in the same way as in the case p = 4. To this end, $G_{\lambda,k}^p(x)$ is extended to \mathbb{R} in the following way: $\widetilde{G}_{\lambda,k}(x) := G_{\lambda,k}^p(\pi_p(\lambda, k) - x), x \in [\frac{\pi_p(\lambda, k)}{2}, \pi_p(\lambda, k)]$ and $\widetilde{G}_{\lambda,k}(x) := -\widetilde{G}_{\lambda,k}(-x)$ for $x \in [-\pi_p(\lambda, k), 0]$. Finally, $G_{\lambda,k}^p(x) : \mathbb{R} \to \mathbb{R}$ is defined as the $2\pi_p(\lambda, k)$ -periodic extension of $\widetilde{G}_{\lambda,k}(x)$ to all of \mathbb{R} . The extended function $y = G_{\lambda,k}^p(x)$ satisfies the following equation

$$\left(y^{\prime 2} + k^2 y^2\right)^{\frac{p-2}{2}} \left[y^{\prime 2} - \frac{k^2}{p-1} y^2\right] + \frac{\lambda}{p-1} |y|^p - 1 = 0, \quad x \in \mathbb{R}.$$

$$y(0) = 0$$

because it is invariant under the transformations: $x \mapsto \pi_p(\lambda, k) - x$ and $y(x) \mapsto -y(-x)$. Consequently, $u(x) = cG_{\lambda,k}^p(x)$ is the general solution to the problem

$$k^{2} (k^{2} u^{2} + u'^{2})^{\frac{p-2}{2}} u - ((k^{2} u^{2} + u'^{2})^{\frac{p-2}{2}} u')' = \lambda |u|^{p-2} u, \quad x \in \mathbb{R},$$

$$u(0) = 0.$$

It remains to check the conditions u(1) = 0 and $u \neq 0$. These are possible iff $G_{\lambda,k}^p(1) = 0$. By the construction of $G_{\lambda,k}^p(x)$ we have

 $G^p_{\lambda,k}(1) = 0 \quad \Leftrightarrow \quad n\pi_p(\lambda,k) = 1.$

Thus the general eigenvalue problem (4.1) reduces to the algebraic problem:

$$n\pi_p(\lambda,k) = 1. \tag{4.13}$$

Further results are based on the properties of $\pi_p(\lambda, k)$.

Finally, we give an analog of Theorem 3.1 in the general case. Here we summarize the results about the dispersion relations, which follow from (4.13) and the above given constructions.

830

Theorem 4.2. (a) (See also Theorem 2.1(a) and Remark after this theorem.) For every $k \in \mathbb{R}$, the set of all eigenvalues λ of problem (4.1) consists of a sequence of positive numbers $\lambda_n(k)$ such that $\lambda_n(k) \to \infty$ for $n \to \infty$;

(b) There is a number $\lambda^* > 0$ such that for each λ satisfying $\lambda^* \leq \lambda$, the set of all eigen-parameters k of problem (4.1) consists of a finite number of eigen-parameters $k_1(\lambda), k_2(\lambda), \dots, k_{n(\lambda)}(\lambda)$ which belong to the interval $(-\lambda^{1/p}, \lambda^{1/p})$. Moreover, $n(\lambda) \to \infty$ as $\lambda \to \infty$:

(c) In the case of $\lambda < \lambda^*$ problem (4.1) has only trivial solution.

Proof. By (4.13) we have: (λ, k) are eigen-parameter for (4.1) if and only if

 $n\pi_n(\lambda, k) = 1.$

We note the following properties of the function $\pi_n(\lambda, k)$ (the proof repeats the same arguments from Theorem 3.1), which follow from the definition of $\pi_n(\lambda, k)$ and related properties of the function $H(s, \lambda, k)$:

(i) for a fixed *k*, $\lim_{\lambda \to +\infty} \pi_p(\lambda, k) = 0$,

(ii) for a fixed $\lambda > 0$ we have $k \in (-\lambda^{\frac{1}{4}}, \lambda^{\frac{1}{4}})$ and

$$\lim_{k \to -\lambda^{\frac{1}{p}^+}} \pi_p(\lambda, k) = \lim_{k \to \lambda^{\frac{1}{p}^-}} \pi_p(\lambda, k) = +\infty,$$

(iii) $\lim_{\lambda \to +\infty} \pi_p(\lambda, 0) = 0.$

Hence, (a) follows from (4.13) and (i). The property (b) follows from (4.13), (ii) and (iii), where λ^* is the solution of the equation

$$\pi_p(\lambda, 0) = 1.$$
 \Box

Appendix A

In this appendix we give the full details of reducing the order of general multi-parameter eigenvalue problem (4.1). We apply some techniques, similar to those applied in the case of p = 4, to reduce the order of (4.1). For the convenience of computations we set $\frac{p-2}{2} = q$. Then (4.1) reduces to the following form

$$k^{2}(k^{2}u^{2} + u'^{2})^{q}u - ((k^{2}u^{2} + u'^{2})^{q}u')' = \lambda |u|^{2q}u,$$

$$u(0) = u(1) = 0.$$
(A.1)

By using the substitution u'(x) = v(u) in (A.1) we obtain

$$k^{2}(k^{2}u^{2} + v^{2})^{q}u - ((k^{2}u^{2} + v^{2})^{q}v)' = \lambda |u|^{2q}u,$$

$$k^{2}(k^{2}u^{2} + v^{2})^{q}u - q(k^{2}u^{2} + v^{2})^{q-1}(2k^{2}uu' + 2vv'u')v - (k^{2}u^{2} + v^{2})^{q}v'u' = \lambda |u|^{2q}u,$$

where $v' = \frac{dv}{du}$. After simplification we get

$$k^{2}(k^{2}u^{2}+v^{2})^{q}u-2k^{2}q(k^{2}u^{2}+v^{2})^{q-1}uv^{2}-2q(k^{2}u^{2}+v^{2})^{q-1}v^{3}v'-(k^{2}u^{2}+v^{2})^{q}vv'=\lambda|u|^{2q}u.$$
(A.2)

This is a homogeneous ordinary differential equation of degree 2q + 1. Let us divide both sides of (A.2) by $|u|^{2q}u$. Then

$$k^{2}\left(k^{2} + \left(\frac{\nu}{u}\right)^{2}\right)^{q} - 2k^{2}q\left(k^{2} + \left(\frac{\nu}{u}\right)^{2}\right)^{q-1}\left(\frac{\nu}{u}\right)^{2} - 2q\left(k^{2} + \left(\frac{\nu}{u}\right)^{2}\right)^{q-1}\left(\frac{\nu}{u}\right)^{3}\nu'$$
$$-\left(k^{2} + \left(\frac{\nu}{u}\right)^{2}\right)^{q}\frac{\nu}{u}\nu' = \lambda.$$
(A.3)

The change of variable v = uw(u) transforms Eq. (A.3) to the following separable equation

$$k^{2}(k^{2}+w^{2})^{q}-2k^{2}q(k^{2}+w^{2})^{q-1}w^{2}-2q(k^{2}+w^{2})^{q-1}w^{3}(w+uw')$$

-(k^{2}+w^{2})^{q}w(w+uw') = λ .

Simplifications yield

$$k^{2}(k^{2} + w^{2})^{q} - 2k^{2}q(k^{2} + w^{2})^{q-1}w^{2} - 2q(k^{2} + w^{2})^{q-1}w^{4}$$
$$- 2q(k^{2} + w^{2})^{q-1}w^{3}uw' - (k^{2} + w^{2})^{q}w^{2} - (k^{2} + w^{2})^{q}wuw' = \lambda$$

and

$$(k^{2} + w^{2})^{q-1} [k^{2}(k^{2} + w^{2}) - 2k^{2}qw^{2} - 2qw^{4} - (k^{2} + w^{2})w^{2}] - \lambda$$

= $(k^{2} + w^{2})^{q-1} [2qw^{3} + (k^{2} + w^{2})w]uw'.$ (A.4)

Since

$$k^{2}(k^{2}+w^{2})-2k^{2}qw^{2}-2qw^{4}-(k^{2}+w^{2})w^{2}=(k^{2}+w^{2})(k^{2}-(2q+1)w^{2}),$$

we obtain from (A.4) that

$$(k^{2} + w^{2})^{q} (k^{2} - (2q + 1)w^{2}) - \lambda = (k^{2} + w^{2})^{q-1} [(2q + 1)w^{3} + k^{2}w] uw'.$$

Finally, we have the following separable equation

$$\frac{(k^2 + w^2)^{q-1}[(2q+1)w^3 + k^2w]}{(k^2 + w^2)^q(k^2 - (2q+1)w^2) - \lambda} dw = \frac{du}{u}.$$
(A.5)

A straightforward calculation gives

$$\left[\left(k^{2}+w^{2}\right)^{q}\left(k^{2}-(2q+1)w^{2}\right)-\lambda\right]'=-(2q+2)\left(k^{2}+w^{2}\right)^{q-1}\left[(2q+1)w^{3}+k^{2}w\right].$$

Then (A.5) integrates to

$$\ln \left| \left(k^2 + w^2 \right)^q \left(k^2 - (2q+1)w^2 \right) - \lambda \right| = -(2q+2)\ln|u| + c$$

or the same

$$(k^{2} + w^{2})^{q}(k^{2} - (2q+1)w^{2}) - \lambda = \frac{c}{|u|^{2q+2}}, \quad c \neq 0$$

Putting the inverse substitution $w = \frac{u'}{u}$ into this equation we have

$$\left(k^{2} + \left(\frac{u'}{u}\right)^{2}\right)^{q} \left(k^{2} - (2q+1)\left(\frac{u'}{u}\right)^{2}\right) - \lambda = \frac{c}{|u|^{2q+2}}.$$

Hence,

$$(u'^{2} + k^{2}u^{2})^{q} [(2q+1)u'^{2} - k^{2}u^{2}] + \lambda |u|^{2q+2} - c = 0$$

(here we replaced c by -c). Thus, the final reduced 1st order differential equation is

$$\left(u^{\prime 2} + k^2 u^2\right)^{\frac{p-2}{2}} \left[(p-1)u^{\prime 2} - k^2 u^2\right] + \lambda |u|^p - c = 0.$$
(A.6)

References

- [1] R.A. Adams, J.J.F. Fournier, Sobolev Spaces, Academic Press, 2002.
- [2] R.P. Agarwal, H. Lü, D. O'Regan, Eigenvalues and the one-dimensional *p*-Laplacian, J. Math. Anal. Appl. 266 (2) (2002) 383–400.
- [3] A. Anane, Simplicité et isolation de la premiére valeur du p-Laplacian avec poids, C. R. Acad. Sci. Paris Ser. I Math. 305 (1987) 725–728.
- [4] A. Anane, N. Tsouli, On the second eigenvalue of the *p*-Laplacian, in: Nonlinear Partial Differential Equations, in: Pitman Res. Notes Math. Ser., vol. 343, Longman, Harlow, 1996, pp. 1–9.
- [5] J.P.G. Azorero, I.P. Alonso, Existence and nonuniqueness for the p-Laplacians: Nonlinear eigenvalues, Comm. Partial Differential Equations 12 (1987) 1389–1430.
- [6] J. Benedikt, P.G. Girg, P. Takác, On the Fredholm alternative for the p-Laplacian at higher eigenvalues (in one dimension), Nonlinear Anal. 72 (2010) 3091–3107.
- [7] E. Di Benedetto, $C^{1+\alpha}$ local regularity of weak solutions of degenerate elliptic equations, Nonlinear Anal. 7 (1983) 827–850.
- [8] E. Di Benedetto, M.A. Herrero, Non-negative solutions of the evolution p-Laplacian equation, Arch. Ration. Mech. Anal. 111 (3) (1990) 225-290.
- [9] P. Drábek, Ranges of α -homogeneous operators and their perturbations, Casapis Pest. Mat. 105 (1980) 167–183.
- [10] P. Drábek, A. Kufner, F. Nicolosi, Quasilinear Elliptic Equations with Degenerations and Singularities, de Gruyter Ser. Nonlinear Anal. Appl., vol. 5, Walter de Gruyter, Berlin, 1997.
- [11] D. Gilbarg, N.S. Trudinger, Elliptic Partial Differential Equations of Second Order, Classics Math., Springer, Berlin, 2001.
- [12] M. Hasanov, Eigenvalue problems for perturbed *p*-Laplacians, in: ICMS International Conference on Mathematical Science, in: AIP Conf. Proc., vol. 1309, American Institute of Physics, 2010, pp. 400–411.
- [13] Lê. An, Eigenvalue problems for the p-Laplacians, Nonlinear Anal. 64 (2006) 1057-1099.
- [14] P. Lindqvist, On the equation $-div(|\nabla u|^{p-2}|\nabla u|) = \lambda |u|^{p-2}$, Proc. Amer. Math. Soc. 109 (1) (1990) 157–164.
- [15] G. Morosanu, D. Souroujon, S. Tersian, Homoclinic solutions of a fourth-order travelling wave ODE, Port. Math. (N.S.) 64 (3) (2007) 281-301.
- [16] M. Del Pino, M. Elgueta, R. Manasevich, A homotopic deformation along p of a Leray–Schauder degree result and existence for $(|u'|^{p-2}u')' + f(t, u) = 0$, u(0) = u(T) = 0, p > 1, J. Differential Equations 80 (1989) 1–13.
- [17] M. Struwe, Variational Methods, Applications to Nonlinear Partial Differential Equations and Hamiltonian Systems, fourth ed., Springer, 2002.
- [18] P. Tolksdorf, Regularity for a more general class of quasilinear elliptic equations, J. Differential Equations 51 (1984) 126-150.
- [19] E. Zeidler, Nonlinear Functional Analysis and its Applications, vol. I, Fixed Point Theory, vol. III, Variational Methods and Optimization, Springer-Verlag, 1985.